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332|= 13 WA =EF 167 167] Kg bF 3,024 2,052
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A—uhh 10 10| Kg 2P 810
AN 70 70| Kg i 1,450 799
AERAT AT 224 224  Kg 2P 2,592 1,260
ARTEZL 14 141  Kg E2p] 1,342 1,314
JE WA AE 30 30 Kg Bl = 1,050 450
AT 128 128] Kg E2p] 2,400 200
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70110 BA 251 251 Kg FJE 972 756
705|7=2< ¥ 41 41 Kg SHY 3,942
710(2 2 AT 64 64| Kg =y 1,375 1,260
713|IL L» & HF 5 5 Kg bloi ] 7,200
BlBEFALANIN 531 531 Kg |B1R 794 662
54T AE 7 71 Kg bloi ] 1,234
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76l|1b Y AEE 12 12 Kg &R 1,980
801 [IEAL = 1S 52 521 Kg ¥ -mA 1,728 1,134
802|1 x| 310 310 Kg gl 1,728 1,242
8051 1E 993 993| Kg biF 1,058 378
810|FAKF 187 187 Kg bF 3,024 1,249
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